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Forest around the tea plantation are mainly important in that they
A. provide timber for tea factory
B. provide beauty in the plantation
C. provide shade for the crop
D. maintain moisture in the soil
Which of the following is the main means of transport in the county?
A. railway
B. road
C. water
D. air
Which of the following products is likely to be transported using railway?
A. stones
B. sisal
C. wheat
D. dairy products
What is tjie distance of the tarmac road from the bridge near the dairy farm to point W?
A. 17km
B. 14km
C. 12km
D. 16km
Which of the following is the highest point above sea level?
A. around the tea farm
around Zuri market

C, around the dairy farm
D. around the school
What is the direction of the airstrip from Samha school?
A. North
B. North West
O. South West
D. South East
Zuri county is likely to be headed by a

A. chief
B. governor
C. DC
D. DO
Which one of the communities of East Africa belong to the same language group?
A. Burji, Iteso, Maasai, Somali
B. Embu, Baganda, Kikuyu, Akamba
C. Binka, Sandawe, Mburungi. Nuer
D. Samburu, Boran, Turkana, Burji .Below are statements about a community in Eastern A frica during the pre-colonial period (!) the community was ruled by hereditary
chiefs
(ii) the community traded with coastal traders
(iii) the comm unity used mercenary soldiers to 'expand their chiefdom
Which community is described above?
A. Wanga
B. Abagusii
B. Wanyamwezi D. Baganda
Which one of the following groups of countries axe found in Central Africa?
A. Kenya, Ethiopia, Sudan
B. Cameroon, Nigeria, Benin r. Angola, Zambia, Zimbabwe
C. Tanzania,Angola, Mozambique
The main cause of urban-rural migration is A. lack of water
B, search for land for settlement 0. search for employment
D, outbreak of diseases Below are statements about a river in Africa
(i) carries largest volume of water to the ocean
(ii) forms an estuary at the mouth
(iii) Kasai and Ubangi are the main tributaries The river described above is

A. Zambezi
. B. Zaire
C. Congo
D. Nile
Volta river project was mainly started for

A. irrigation? B. transport
C. HEP production D. tourist attraction This type of rainfall is called

15. A town that is found on side marked B is

A. Nanyuki
B. Nyeri
C. Embu

CI. D. Meru
16. Who among the following leaders was arrested and exiled in Kisii by the British?
A. Nabongo Mumia
B. Mekatilili wa Menza
C. Koitalel arap Samoei
D. Sakawa
17. Your teacher has listed the countries below on
the chalkboard. Which group of countries have equatorial rain forests?
(i) Zambia (ii) Mozambique {iii) Liberia (iv) Ghana
A. i, ii
B. ii, iv
D. iii, iv
e weather recording instruments
correctly matched with the element of
element of weather air pressure rainfall temperature humidity
Ise the mas below to answer questions 19-21
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The physical feature marked Q is

A. Ethiopian highlands B, Jos plateau €. Adamawa highlands D. Ahaggah plateau The river project marked E was developed Mainly to

A. ,
provide water for irrigation
B. provide water for domestic use
C. attract tourists to the region
IX increase fish production in the area The shaded area marked F receives low rainfall because



A. it is lowland area
B. it is far from the equator
C. it has little vegetation
D. it is affected by a cold current
19.


38. Which of the following factors does NOT discourage unity?
A. tribalism
B. intermarriage
C. racism
D. religious division
39. Which one of the following islands is NOT found in the Indian Ocean?
A. Seychelles
B. Principe
C. Madagascar
D. Comoros
40. Which of the fo llowing was not a reason why European nations scrambled for Africa?
A. they wanted to settle their surplus population
B. they wanted to search for raw materials
C. the European powers wanted to show their power
D. African chiefs asked them to come and develop Africa
41. Which one of the following statements is true of the San?
A. they were ruled by chiefs
B. they were herdsmen
C. they were ruled by hunters
D. they made decisions by consensus
42. Which fishing method is drawn below
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A. long lining
B. purse-seining
C. trawling
D. net drifting
43. Which one of the following statements is NOT true about the population of Germany?
A. people have large families
B. population growth rate is low
C. birth rate and death rate are low
D. many people live in towns
44. What was the main cause of Bantu’s migration from their craddle land?
A. adventure
B. to trade
C. search for fertile land
D. search for pasture and water
45. Which one of the following was the main reason why Aswan High dam was established?
A. control foods
B. provide water for irrigation
C. establishment of fishing grounds
D. production of HEP power
46. Which one of the following groups of leaders . in Kenya collaborated with the Europeans during colonization?
A. Koitalel, Karuri, Waiyaki, Lenana
B. Mekatilili, Karuri, Mumia
C. Karuri, Waiyaki, Lenana
D. Koitalel Samoei, Mumia, Mekatilili Where is the headquarters of African Union?
A. Gaberone
B. Abuja
C. Arusha
D. Addis Ababa
The instrument shown below is used for measuring_
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- A. rainfall —
B. air pressure
C. humidity
D.wind
49. Which combination of lakes is NOT found in the Rift Valley?
A. L. Turkana, L. Edward
B. L. Malawi, L. Stefanie
C. L. Naivasha, L. Eyasi
D. L. Kyoga, L. Victoria
50. The Teleki tarn on Mt. Kenya is an example of a

A. volcanic lake
B. corrie lake
C. wind action lake D. warped lake
51. The following are benefits of peace among different communities interacting together except

A. losing of property through arson
B. promoting spiritual growth among the people
C. helping to learn new ideas and skills from one another
D. helping to make different cultures richer
52. Asians MAINLY arrived in East Africa in order to

A. look for their legendary kings
B. trade with the African long distance traders
C. help in the building of the railway
D. colonize East African countries
53. Three of the following are roles of parents in Kenya except

A. to listen to other parents and obey them
B. to teach their children the values of their community
C. to talk to their children the values of their communities
D. to make decisions on matters affecting the family
54. Which combination of countries below are termed as landlocked countries of Africa?
A. Zambia, Botswana
B. Namibia, Congo
C. Uganda, Sudan
D. Mozambique, Lesotho

22. Three of the following are reasons why the Uganda railway was built. Which one is NOT?
A. transport raw materials to the coast
B. to promote economic development
C. to provide cheap transport for Africans
D. to provide transport for British colonial administrators
23. Which pair of countries below was colonized by Germans?
A. Mozambique,Angola,
B. Namibia, Ghana
C. Cameroon, Libya
D. Tanzania, Togo
24. The time in Accra Ghana is 1.12pm. The time in a town P is 9.28am. At what meridian does town P lie?
A. 56°W
B. 71°W
C. 56°E
D.71°E
25. Below are some functions of a town in Kenya
(i) it is an administrative centre
(ii) it is an inland port
(iii) it is a commercial centre
(iv) it is an industrial centre
The town where functions listed above are is A. Mombasa
B. Nakuru
C. Magadi
D. Kisumu
26. The Khcikhoi chief had little power mainly because
A. decisions were made by general agreement
B. clan heads influenced decision making
C. the community lived a nomadic life
D. the community lived in scattered
settlements
.27. The following combination of marriage systems do not permit a man to have more than one wife. Which one does not?
A. civil marriage and Christian marriage
B. customary marriage and civil marriage
C. customary mam age and Christian marriage
D. Islamic marriage and customary marriage 28. Who among the following is head ofjudiciary?
A. Attorney General
B. President
C. Chief Justice
D. Chairman of the coat of arms
: 9. The main duty of the army is to

A. distribute relief food
B. defend the country from external attacks 
C. ensure peace prevails in the country
D. maintain law and order 

30, Which one of the following physical regions in
Kenya is correctly matched with its climati?. conditions?
'

A. Nyika plateau - hot and wet

B. coastal plains - cool and dry


C. highland region - cool and wet
D. lake region - hot and wet
31. In the 19th century, the Baganda were ruled
by hereditary kings known as

A. Kabaka
B. Sabataka
C. Giunguli
D. Ssazas
Use the map of Kenya below to answer questions 32-35[image: image4.png]



32. The river marked O and G are

A. Tana and Ewaso Nyiro
B. Nzoia and Turkwell
C. Athi and Nyando
D. YalaandKerio
33. The government is conserving forests inthe shaded area marked E mainly to

A. protect trees for their beauty
B. protect indegenous species of trees
C. attract more tourists
D. conserve wildlife
34. The irrigation scheme marked K was planned for growing

A. fruits
B. rice
C. onions
D. cotton
35. The county marked W is sparsely populated because

A. it receives little rainfall
B. it has many wild animals
C. it has poor soils
D. it is set aside for cattle ranching
36. The legal procedure of amending the constitution of Kenya is by

A. presenting the intended change io court 3. discussing the intended change in a political rally
C. discussing the intended changed at a public
r£;lv
'. -p;;?senting the intended change to die parliament for debate
37. Which one of the following is considered an early ancestor of huma-like creatures?
A. ramapithecus B. astrolopithecus O. Kenyapithecus D. homo habilis ' 

B. promised Noah that his descendants would live all over the world
C. promised Noah that his sons would have many children
D. promised Noah and his sons that he will never destroy land with water again
64. Which one of the following statements DOES NOT explain why sacrifices were carried out in the time of Abel, the son of Adam?
A. to show respect to the creation
B. to gain the favour of God
C. to show ones superiority in thanking God
D. to avoid misfortunes that could befell the people
65.- Which one-of the following gives the correct I order in which these plagues occured in Egypt? ji A. blood, frogs, boil f B. frogs, fli'es, death of first boms | C. gnats, flies, death of animals j D. locusts, darkness, hailstones | 66. The main reason why king David was
I considered the greatest king of Israel was

| A. making Jerusalem his capital ! B. the defeat of the Philistines | C. uniting the twelve tribes of Israel | D. being an obedient servant of God | 67. The king who sent the wisemen to establish the
birth of the new king in Bethlehem was

A. Herod antipas B. Seti II
C. Augustus
D. Pontius Pilate
I 68. During the baptism of Jesus, the presence of God was symbolised by
A. a voice from heaven
B. John the Baptist
C. lighting and thunder
D. thunder and wind
69. Who among the following was not with Jesus during the transfiguration?
A. James
B. Peter
C. Mark
D. John
70. Who among the following built a temple for God?
A. king David B. kingAhab
C, king Solomon D. Jeremiah Joseph was able to overcome the temptations from Portipher’s wife because he

believed in God
B. feared his father Jacob
C. was physically strong
D. was very hardworking David did not kill king Saul when lie found hira sleeping. This shows that

A. David feared the king
B. David was a coward
C. David had respect for God’s chosen king David did not have enough soldiers
i D.
fiK Qv Q1 .OK
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73. Which commandment did the Israelites break when Aaron made a golden calf for them0
A. Do not accuse anyone falsely
B. Do not steal
C. Do not worship any other God
D. Do not use my name for false purposes
74. Naboth was killed because he


A. had been accused of abusing God
B. had insulted the king
C. had touched the covenant box
D. refused to sell his field to king Ahab
75. The triumphant entry of Jesus into Jerusalem riding on a donkey had been prophesied by prophet


A. Zachariah
B. Amos
C. Isaiah
D. Micah
76. “

 is it with aJciss that you betray the son
of man” (Luke 22:48). Jesus said these words to

A. Judas at the last supper
B. Judas at Calvary
C. Judas at Gethsemane
D. Judas at the last supper
77. Which one of the following chd JesuS not do on the night lie was arrested?
A. ’he prayed at Mount Olives
B. he drove away traders from the temple
C. he was annoiated at Bethany
D. lie entered Jerusalem on a donkey
78. When Moses the servant of the Lord died in the
land of Moab, the Israelites grieved for

before crossing Jordan
A. 40 days
B. 40 years
C. 12 days s
D. 30 days
79. When we use our freedom in obedience we

A. are unable to make choices of our own
B. gain favour from God and man
C. lose favour with God and man
D. keep all things in our hearts
80. The lesson that a Christian can learn from the meeting between Jesus and Zaccheeus is

A. it is good to pay back debts
B. on.s should work hard to become rich
C. rich people should invite the poor to their parties
D. repentant sinners will be forgiven
31. Which of the following parables of Jesus shows why he had come into the world.
The

A. sower
B. lost sheep
C. prodigal son D. rich man and Lazarus °-7. Which social problem was demostrated by the Samaritan women when she refused to give
· Jesus (who was a Jew) water at Jacobs well?
A. nepotism
B. corruption
83. Which of the following is a way of expressing justice?
A. bearing false witnesses on others
B. sharing our resources with others
C. mistreating foreigners and poor people
D. selling cheap goods to others
84. Which of the following is correct about marriage in traditional African societies?
A. the main purpose of marriage was companionship
B. there was no marriage ceremony
C. marriage ceremony was religiously conducted
D. marriage negotiations never included ceremonies
8 5 Being committed is not always easy because it

A. involve  doing what our friends would consider to be old fashioned
B. demands^making sacrifices - putting people’s interest before our own
C. requires that we be given strength from outside sdurces to overcome our weaknesses
D. it left only a few people who have the determination to be martyrs
86. In traditional African communities, ancestors were respected mainly because they

A. appeared to the living in a dream
B. united the living and the dead
C. reminded people of the past
D. were dead relatives
87. Who among the following missionary groups sent the first missionary to Kenya in 1844?
A. Church Missionary Society
B. Holy Ghost Fathers
C. Mill Hill Fathers^
D. Church of Scotland Mission
88. Which of the following sexual misuse made God to destroy Sodom and Gomorahby fire? j- ^ t jllon ^  ''"B. homo sexuality
C i'l*sry * D. fornication 
89. Which of  the followng BEST explains how a standard 8 pupil should use his or her leisure time
in school?
A. going to discos
B. fighting out differences
C. smoking cigarettes as he or she relaxes
D. revising in preparation for exams
90. A traditional African practice which is accepted in the Christian Worship is

A. making of libation to the ancestors
B. offering animal sacrifices to God
C. giving farm produce to God
D. calling the names of the ancestors

C. injustice
D. ethnicity
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In which month of the year is the sun experienced overhead in the Tropic of


Carpricom? ~


A. March	B. September


C. June	D. December


The following are pre-historical sites in Eastern Africa which have attracted tourits for a long time. Which one is not?


A. Bomas of Kenya 3. Glduvai Gorge in Tanzania


Kariadusi in Kenya


Kasubi tombs in Uganda The first president of independent Tanzania was eaiied_		


A. Julius Nyerere B. H&ssan-Mwinyi C. BenjaminMkapa D. Oscar Kambona The body in-charge of elections in Kenya is	


Electoral Commission of Kenya


Independent Electoral and Boundaries Commission


Interim Indpepeiident Electoral Commission


Kenya Bureau of Standards The main reason why the Maji Maji uprising


lost against the Germans was		


A. poor co-ordination among the African


warriors


3. local soldiers faced starvation as crops were burnt


€, hanging of the leader demoralised them D, German soldiers had better weapons The organization of the government has been divided into three of the following, except A. cabinet	B.judiciary


C. executive	D. legislature


Man would continue to live in the garden of


Eden if he	


A. lived in complete happiness


£. was not warned by God about dying the same dame C. remained the first human being to be created


continued to do God’s wO’ tbe garasi.; f 71. '“Lei the earth produce all fcindi of plants, those j ±*.i bear grains-and those th%, bear fruits.I 3enesis 1:11-12. On which day d:d ,?Ir.e I


		 rt	\


. ‘


the fourth day B. the iifib day	j


the second day D. the third day	!


H'ree of the following are elements of covenant }


3cd made with Noah after the floods j


;xcept	


commanded Noah not to eat meat with


blood on it
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